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(2) EfmAX (Heron’s Formula): AABC W=%KE a. b ¢, HEEZHE S, Al S =
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16A% = 2m*n® + 2n°1% + 2m*1> — m* — n* — % (2)
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16A? = 2ab(p — a)(p — b) + 2bc(p — b)(p — ¢) + 2ac(p — a)(p — ¢)
—a*(p—a)* =0 (p = b)* = A(p— o).
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A% (4) BREBFEMRIE, B a(p —a) +b(p —b) + clp — ¢) = 2V/38,
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a2+ 0+ >4V3S 4+ (a—b)2 + (b—c)* 4 (c —a)?.
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m? 4+ 0%+ 12> 4V3A + (m —n)? + (n — D+ (1 —m)>. (5)
BARZR (5) RIS BAKREEE, 5
a(p—a) +b(p—b) +c(p—c) =235 + R. (6)
Hef
R=(Va-a) i 8) +(Vi- B Velr—a) +(Velr-a-Valp-a).
BRER (6) AR L 2

2ab + 2bc + 2ca — a® — b* — 2 > 43S + 2R
—a® — bV? — & > 4V/35 — 2ab — 2bc — 2ca + 2R, (7)

BWARER (7) M@NE 2a® + 20 + 2¢2, HEHE

a4+ 02+ >4V3S 4 (a— b2+ (b—¢)* + (¢ — a)® + 2R. (8)
% ANABC BIESfRE, 2R — 0, RS (3) B,
T ERX (8) BIFE B AE X —E N,

B3: (Tsintsifas %K) & AABC W=ZERE a. b o, HEELR S, Hl ab + be + ca >
4v/3S. EE1E%E ANABC BIE=AIRRE,

B £ AA'B'C , AR RAER, &

m? +n?+ 12 > 4V/3A. (9)
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m? +n’*+ 1P =a(p—a)+bp—>b)+c(p—c)
=ab+ bc+ ca — %(a2+62—|—62).
ALK (9) MG EAH, 5
ab + bc + ca — %(a2+b2—|—02) > 44/3 x g = 2V/38.
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2ab + 2bc + 2ca — (a* + 0% + ¢*) > 4V/38. (10)

£ ANABC H,
a? +0* + % > 4V/38. (11)

(10). (11) =AM, 5 2ab + 2be + 2ca > 8+/38S.
FrA ab + be + ca > 44/38S.
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